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And perhaps only by a  — 52 799p¥ X7 52 K97 K77 7737 A9
7man it is not required, however by an 79y it is required

OVERVIEW
The X773 initially proved that ¥"7 does not require a '7 217» from the fact that
he maintains *»7 MY "»3 709P. The X3 now asks perhaps ¥"1 does not
require a "7 2Pn for aMa7, but he does require a "7 21P» for 77°PY. Our NBOIN
explains why the X ) assumes that there should be a difference between
37 and 7Py,

— 27390 DIYM NN AN DIYN NNN /2 29N K910 D741 197w ware
>'"'w9 explained that the X n3 infers that ¥"3 would require a '7 2pn by
7Ry, since Y"1 is not 2% the P77 for two MXvr one for NXYT and one

for 191277, The X m3 concluded that ¥" maintains 791p, so when the object went from
the °"777 to the 7"77 IR, there was a 1X¥YI, and when it continued from the 2" 97K to
the °"77 there was a 10137, therefore if ¥"9 maintains that a '7 217n is not required neither
by 7137 nor 77°pY there should be two 2°21°1. However, since the Xn»72 merely states ¥'"7
2»nn, but it did not state o°nw 2»nn, that means he is only 21 for one 79X%71, namely
7RX17, indicating that there is a 71317 for the 7RX7, but no 77°pY for the 70157, The reason
the 317 is valid, is because it does not require a "7 21pn. However, an 77°py does require a
7 0pn, and since there is no "7 217 he is not 21 for the 10157, This according to >"wA
proves that while a 7im377 does not require a '7 2p7; an 77°PY however does require a 21pn
"7, and therefore he is 2>°11 only once for ARX7.

mooIn disagree with >"w7a:

—ax 1PN ATHINN 2NN XYY DIVN 72 299NN NYT NN N1 WD)
And there is a difficulty with this inference, for perhaps® the reason that
he is not 211 for two N1OX>7, is not because there is no 70137, since an 7PV
requires a '7 DI, it is possible that an 7Py also does not require a '7 2PN,
and the reason why he is not 2>17 for 70137 also, is because ¥Y"7 maintains

oy .

2Oneis 2™ a separate nXvr 1277 for each 7oX7n which is done 3w32 on naw (if one is not aware that this
79KX7n is forbidden).

? This is referring to a case where the ax and the 77910 were done X 0%v72. He was not aware that he was
doing a forbidden 7715851 on naw until he did both the 2& and the 772n.

* The oo1w> NON writes: FARP RAT ROR Y2 ORTN 71PY KT MRP K2 X7 T2 20 X°wp 71 R, This is not such a
difficulty; for [the &3] did not state, ‘but an 7Py certainly requires (a "7 21pn), but rather [the Xn3] said,
perhaps (an 7Py requires a '7 2pn). See ‘“Thinking it over’ # 2.
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that one is not 2917 (a 1277?) on a 777230 when he does it together with the

2R and since 701077 is a 7790 of 7R¥II, we cannot be 2 him for 70157 when he is
already 21 for axx17.

mooin asks an additional question:

— 2501 39 DNY NPT 2 HY N /2 %29 15N 299NN NN 29 TIRP TINDAT NN
And furthermore® there is another difficulty with this vw», for 7797 29 will
say shortly that s29 was 2%n% a v¥nRa *"am 2"7% "7 P, for two
MoR9Y, for 701371 and °X¥7 even though in the X011 it stated simply that

%27 was 2%, not specifying how many 2°27m, nevertheless 7717 27 understood it to
mean two, so therefore -

— DNV 2901 XYT )Y NI NPV 2399 933 N9
Here too concerning »''9, how can we be sure that he does not mean that

he is liable for two nmXwvn?! The question remains, why did the X %3 assume that
there should be a difference between 1177 and 77°py?

MDOIN answers:
— 19VN1M 1929957 NOYa NYPY NN 72997 W97 AN
And it appears to mo01n, that the explanation of the s'x713 question: that
perhaps an 79°pY requires a '7 23pn, as opposed to 1117, is that since we
derive 7X¥7 noX57 from the ow» -
— TnaNY9an HUIY Y 1PIMI FAIN YY $AIN )03 DY 1NN PION PAY
Where they would take the articles which they donated from their closets
which were four o°rov by four o°19v (the required space for an 77°pY), and

would then give it into the hands of the workmen which is not four by four.
There is good reason to distinguish between 77 py and 7117 for that is the way it was in
the 1own. There was a "7 23p» by the 77°py and not by the nmam.

mooIn offers an alternate explanation:

- PN YWIR NS INN 17U Prwh snwaraw nn sa9
And according to what I explained previously that we derive ( naxo»
7X¥17 and) the requirement for a '7 0Wpn, from the Mpnn WOR RXY DR 710D,

> Even if we were to say that ¥"9 maintains that a 28 2112 77230 is 270 (see 2,7% NAw), or we would find a
case where he is 28 212 772108 2°°7, see R M7 7"7 2,18 '010 (and >IN 12 here).

% See footnote # 5.

7 See TIE & 71"7 X,7 Moo “Thinking it over’ # 4.

¥ See &M 1"7 X7 '01(1 ['27] MR 717 R,2 ')
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that no man shall take an object out of its place -
=990 NP YIAT 99V ) 'NN
It is also well understood the distinction between 1737 77°PY, since this 2109

is concerning 5195y, for that P109 is telling us that we cannot remove an object from
its place (to another mwn), so we are talking about the 77°p¥, when we say ‘from its
place’ thereby requiring a place of "7 %¥ '7 for 77°py, but not necessarily for 3.

SUMMARY

There are three ways to explain why the X3 assumes that even though a
7min does not require a '7 217»; nevertheless an 77°PY may require a "7 DpPn.
*"w1 learns that we infer it from the wording of ¥"9, since he did not say 2m
o»nw that proves that he is 21 only for the 7xX17 but not for the 7017,
because there was no '7 D3pn» 77PY.

mooin refutes this proof, and says that the reason that he is not 2°nw 217 is
because aX 0I1PnA 772K 211 K77 and has nothing to do with a '7 23pn, or ¥
really meant 2°nw 2.

mpoIn offers two explanations, either because in the 1Dwn there was a '7 Dpn
by 7Py and not by 1mi7, or alternatively the 109 requires a "7 2P only by

77°PY and not by 1.

THINKING IT OVER
1. Does not the phrase “n7 /7772 "3 n17p’, itself suggests that this applies
mainly to 7737 and not 77°P¥? Why don’t we use this as proof?

2. How do *"w1 and m»oin differ in understanding the X7 7737 X227 ,X0WP
WA 79PY X7 YA R97? Is the word ‘Xn2°7” more appropriate according to °"w9
or mooIn?’

3. How can we relate their differences in this m90n, to the way they learn
the question of X2°21'7 D1 23 Y¥n AAIM T°PY 1Y RM?

4. How will ¥"7 maintain regarding a need for a '7 03p»n according to the
X1p0n?

? See footnote # 4 and (xn%>71 "a3) "7 27T PW.
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5. According to '01n who explains that there is a difference between 7Py
and 7m7, why did the X773 assume originally that both 7Py and nmin
require a '7 217107

6. According to °"w1, why did ¥"1 differentiate between 7Py and 7n37?
Why didn’t >"wA use that reason, in the manner which n1901n does?™

10°See wx nman.
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